
PriCL notes by Calvin

A Brief Introduction to Law:  Common Law v Civil Law, Precedence

Logic of PriCL requires…

“pre → fact” is a description of human judgment, not logical implication

“pres_c” and “facts_c” give all prerequisites/facts in a tree given CaseDesc |= pre.  Type:  tree→set(p/f)

Subcases are subtrees with around a node n with df_sub ← n

df is always necessarily of form is_legal_action(a) because of the nature of privacy law



Explain intuition behind OR

Explain must-agree vs may-ref / ratio decidendi vs obiter dicta

To be warranted, a case must not require prerequisites

A reference is correct if there are shared decision requirements on a node and shared prerequisites

Cases conflict if their facts or prerequisites contradict and they must agree (because of their df's)



Probably just gloss over this as it closely matches intuition and is way too long:

Deduce = must follow from existing law;  Permit = could follow or opposite could follow

This doesn't actually seem that important but does a neat trick in (ii)



A supporting set is the facts/pres from which permissibility arises.

This trivial follows from definitions but “suggests an algorithm” if you love exponential time

This really just clarifies the reasons for the specificity of Thm 2… moving on.

I think this last one is pretty obvious. 

Norms = implicit laws

Norms can be found...



And cases restructured around them…

This is determined by a brute force “Algorithm 1:  Permissibility” - nevertheless an algorithm though

sum^p_2 means “NP with NP oracle”

The logic to use is “attributive concept language with complements” because of nice properties…


